

2003118810957-08

DATE: 11/14/2018 PAGE: 1 of 5

TO:

Williamson County Thomas Gillespie 301 SE Inner Loop Suite 106 Georgetown, TX 78626

thomas.gillespie@wilco.org (p) 512-943-1465

FROM:

Presidio Networked Solutions Group, LLC Brett Marlier 10415 Morado Circle The Campus Building 1

Suite 320 Austin, TX 78759

bmarlier@presidio.com (p) 512.961.3958

stomer#: WILLI035 Contract Vehicle: Texas DIR-TSO-4167 Cisco

Account Manager: Brett Marlier
Inside Sales Rep: Greg Hubbard
Title: GT Annex

leral	Part #	Description	Unit Price	Qty	Ext Price
	ki Wireless				
	R52-HW	Maraki MD52 Claud Managed AD	#044.4Q	40	£14 COE EC
1	MR52-HW	Meraki MR52 Cloud Managed AP	\$811.42	18	\$14,605.56
				Total:	\$14,605.56
	C-ENT-3YR	M LIMP 5 L I L I OVE	0.171.00	40	00.100.00
2	LIC-ENT-3YR	Meraki MR Enterprise License, 3YR	\$174.00	18	\$3,132.00
				Total:	\$3,132.00
	NADO4 LINA	Maralii MD04 Claud Maranad AD	04 004 40		20 700 04
3	MR84-HW	Meraki MR84 Cloud Managed AP	\$1,391.42	2	\$2,782.84
	C-ENT-3YR			Total:	\$2,782.84
4	LIC-ENT-3YR	Meraki MR Enterprise License, 3YR	\$174.00	2	\$348.00
			•		
MA	A-ANT-20			Total:	\$348.00
5	MA-ANT-20	Meraki Dual-band Omni Antennas	\$115.42	3	\$346.26
				Total:	\$346.26
			Total (Meraki Wireless):		\$21,214.66
isco	Switches				
	S-C2960X-48FPD-L				
		Catalyst 2960-X 48 GigE PoE 740W, 2 x 10G SFP+, LAN Base	\$1,911.30	10	\$19,113.00
ws	S-C2960X-48FPD-L	Catalyst 2960-X 48 GigE PoE 740W, 2 x 10G SFP+, LAN Base 15A AC Pwr Cord, right-angle (United States) (bundle option)	\$1,911.30 \$0.00	10	\$19,113.00 \$0.00
ws	S-C2960X-48FPD-L WS-C2960X-48FPD-L	· · · · · · · · · · · · · · · · · · ·			
ws 6	CAB-AC15A-90L-USA	15A AC Pwr Cord, right-angle (United States) (bundle option)	\$0.00	10	\$0.00
6 7 8	C2960X-48FPD-L WS-C2960X-48FPD-L CAB-AC15A-90L-USA C2960X-STACK	15A AC Pwr Cord, right-angle (United States) (bundle option) Catalyst 2960-X FlexStack Plus Stacking Module	\$0.00 \$274.85	10 10 10	\$0.00
ws 6 7 8	CAB-STK-E-0.5M	15A AC Pwr Cord, right-angle (United States) (bundle option) Catalyst 2960-X FlexStack Plus Stacking Module Cisco FlexStack 50cm stacking cable	\$0.00 \$274.85 \$0.00	10 10 10	\$0.00 \$2,748.50 \$0.00
8 9 10	CAB-STK-E-0.5M	15A AC Pwr Cord, right-angle (United States) (bundle option) Catalyst 2960-X FlexStack Plus Stacking Module Cisco FlexStack 50cm stacking cable	\$0.00 \$274.85 \$0.00	10 10 10 10 for 36 mo(s)	\$0.00 \$2,748.50 \$0.00 \$12,398.40
ws678910ca	CAB-STK-E-0.5M CON-SNT-WSC296XL	15A AC Pwr Cord, right-angle (United States) (bundle option) Catalyst 2960-X FlexStack Plus Stacking Module Cisco FlexStack 50cm stacking cable	\$0.00 \$274.85 \$0.00	10 10 10 10 for 36 mo(s)	\$0.00 \$2,748.50 \$0.00 \$12,398.40
9 10 CA	S-C2960X-48FPD-L WS-C2960X-48FPD-L CAB-AC15A-90L-USA C2960X-STACK CAB-STK-E-0.5M CON-SNT-WSC296XL B-STK-E-3M=	15A AC Pwr Cord, right-angle (United States) (bundle option) Catalyst 2960-X FlexStack Plus Stacking Module Cisco FlexStack 50cm stacking cable SNTC-8X5XNBD Catalyst 2960-X 48 GigE PoE 740W, 2 x 10	\$0.00 \$274.85 \$0.00 \$1,239.84	10 10 10 10 for 36 mo(s) Total:	\$0.00 \$2,748.50 \$0.00 \$12,398.40 \$34,259.90



2003118810957-08

PAGE:

11/14/2018 2 of 5

13	C4KX-PWR-750AC-R/2	Catalyst 4500X 750W AC front to back cooling 2nd PWR supply	\$1,218.00	2	\$2,436.00
14	C4KX-PWR-750AC-R	Catalyst 4500X 750W AC front to back cooling power supply	\$1,218.00	2	\$2,436.00
15	CAB-C15-CBN	Cabinet Jumper Power Cord, 250 VAC 13A, C14-C15 Connectors	\$0.00	4	\$0.00
16	S45XUK9-39E	CAT4500-X Universal Crypto Image	\$0.00	2	\$0.00
17	CAB-CON-C4K-RJ45	Console Cable 6ft with RJ-45-to-RJ-45	\$0.00	2	\$0.00
18	SD-X45-2GB-E	Catalyst 4500 2GB SD Memory Card	\$304.50	2	\$609.00
19	USB-X45-4GB-E	Catalyst 4500 4GB USB device for Sup7-E	\$304.50	2	\$609.00
20	C1FAPCAT4500X	Cisco ONE Foundation Perpetual Cat4500X Std	\$426.30	2	\$852.60
21	CON-ECMU-C1FA4500X	SWSS UPGRADES C1 Foundation Perpetual Cat4500X Std	\$93.48	2 for 36 mo(s)	\$186.96
22	C1-PI-LFAS-4K6K-K9	Cisco ONE PI Device License for LF & AS for Cat 4k, 6k	\$0.00	2	\$0.00
23	C1-ISE-BASE-CAT4K	Cisco ONE Identity Services Engine 150 EndPoint Base Lic	\$0.00	2	\$0.00
24	C1AAPCAT45001	Cisco ONE Advanced Perpetual Cat4500X 16P and 24P Std	\$2,679.60	2	\$5,359.20
25	CON-ECMU-C1AAPCAT4	SWSS UPGRADES Cisco ONE Advanced P	\$1,476.00	2 for 36 mo(s)	\$2,952.00
26	C4500X-16P-ES-C1	Cisco ONE Ent. Services license for 16P Catalyst 4500-X	\$0.00	2	\$0.00
27	C4KX-NM-8SFP+	Catalyst 4500X 8 Port 10G Network Module	\$5,359.20	2	\$10,718.40
28	C1FAVCAT4500X-04	Tracker PID v04 Fnd Perpetual CAT4500X - no delivery	\$0.00	2	\$0.00
29	CON-SNT-45X16SFP	SNTC-8X5XNBD C1 Cat 4500-X 16 Port 10G IP Base	\$2,656.80	2 for 36 mo(s)	\$5,313.60
				Total:	\$52,909.56
		Т			\$87,900.26
			otal (Cisco Switches):		401,000 . _0
isco	Phones		otal (Cisco Switches):		40. ,500.20
CP-	-7832-K9=				
		Cisco 7832 IP Conference Station	otal (Cisco Switches):	1	\$577.10
CP-	- 7832-K9= CP-7832-K9=	Cisco 7832 IP Conference Station SNTC-8X5XNBD Cisco 7832 IP Conference Station		1 1 for 36 mo(s)	
30 31	-7832-K9= CP-7832-K9= CON-SNT-CP7832K9		\$577.10	1	\$577.10
30 31	- 7832-K9= CP-7832-K9=		\$577.10	1 for 36 mo(s)	\$577.10 \$216.48
30 31 CP-	-7832-K9= CP-7832-K9= CON-SNT-CP7832K9	SNTC-8X5XNBD Cisco 7832 IP Conference Station	\$577.10 \$216.48	1 for 36 mo(s) Total :	\$577.10 \$216.48 \$793.58
30 31 CP-	-7832-K9= CP-7832-K9= CON-SNT-CP7832K9 -8832-K9 CP-8832-K9	SNTC-8X5XNBD Cisco 7832 IP Conference Station Cisco 8832 in Charcoal with accessories for North America	\$577.10 \$216.48 \$925.10	1 for 36 mo(s) Total: 6 6	\$577.10 \$216.48 \$793.58 \$5,550.60
30 31 CP- 32	-7832-K9= CP-7832-K9= CON-SNT-CP7832K9 -8832-K9 CP-8832-K9 CP-8832-POE	SNTC-8X5XNBD Cisco 7832 IP Conference Station Cisco 8832 in Charcoal with accessories for North America Cisco IP Conference Phone 8832 PoE Accessories for Worldwide	\$577.10 \$216.48 \$925.10 \$72.50	1 for 36 mo(s) Total:	\$577.10 \$216.48 \$793.58 \$5,550.60 \$435.00
CP- 30 31 CP- 32 33	-7832-K9= CP-7832-K9= CON-SNT-CP7832K9 -8832-K9 CP-8832-K9 CP-8832-POE	SNTC-8X5XNBD Cisco 7832 IP Conference Station Cisco 8832 in Charcoal with accessories for North America Cisco IP Conference Phone 8832 PoE Accessories for Worldwide	\$577.10 \$216.48 \$925.10 \$72.50	1 for 36 mo(s) Total: 6 6 6 for 36 mo(s)	\$577.10 \$216.48 \$793.58 \$5,550.60 \$435.00 \$1,298.88
30 31 32 33 34	-7832-K9= CP-7832-K9= CON-SNT-CP7832K9 -8832-K9 CP-8832-K9 CP-8832-POE CON-SNT-CPK8832K	SNTC-8X5XNBD Cisco 7832 IP Conference Station Cisco 8832 in Charcoal with accessories for North America Cisco IP Conference Phone 8832 PoE Accessories for Worldwide	\$577.10 \$216.48 \$925.10 \$72.50	1 for 36 mo(s) Total: 6 6 6 for 36 mo(s)	\$577.10 \$216.48 \$793.58 \$5,550.60 \$435.00 \$1,298.88
30 31 32 33 34	-7832-K9= CP-7832-K9= CON-SNT-CP7832K9 -8832-K9 CP-8832-K9 CP-8832-POE CON-SNT-CPK8832K	SNTC-8X5XNBD Cisco 7832 IP Conference Station Cisco 8832 in Charcoal with accessories for North America Cisco IP Conference Phone 8832 PoE Accessories for Worldwide SNTC-8X5XNBD Cisco IP Conference Phone 8832 in Char	\$577.10 \$216.48 \$925.10 \$72.50 \$216.48	1 for 36 mo(s) Total: 6 6 6 for 36 mo(s) Total:	\$577.10 \$216.48 \$793.58 \$5,550.60 \$435.00 \$1,298.88 \$7,284.48
30 31 32 33 34 CP -35 36	-7832-K9= CP-7832-K9= CON-SNT-CP7832K9 -8832-K9 CP-8832-K9 CP-8832-POE CON-SNT-CPK8832K -8832-MIC-WIRED= CP-8832-MIC-WIRED=	SNTC-8X5XNBD Cisco 7832 IP Conference Station Cisco 8832 in Charcoal with accessories for North America Cisco IP Conference Phone 8832 PoE Accessories for Worldwide SNTC-8X5XNBD Cisco IP Conference Phone 8832 in Char Cisco 8832 Wired Microphones Kit for Worldwide	\$577.10 \$216.48 \$925.10 \$72.50 \$216.48	1 for 36 mo(s) Total: 6 6 6 for 36 mo(s) Total: 2	\$577.10 \$216.48 \$793.58 \$5,550.60 \$435.00 \$1,298.88 \$7,284.48



2003118810957-08

PAGE:

11/14/2018 3 of 5

38	CON-SNT-CP8811K9	SNTC-8X5XNBD Cisco IP Phone 8811 Series	\$39.36	10 for 36 mo(s)	\$393.60
R-U	CL-UCM-LIC-K9			Total:	\$2,974.60
39	R-UCL-UCM-LIC-K9	Top Level SKU For 9.x/10.x User License - eDelivery	\$0.00	1	\$0.00
40	LIC-CUCM-11X-ENH-A	UC Manager-11.x Enhanced Single User License	\$121.80	7	\$852.60
41	CON-ECMU-LICXENHA	SWSS UPGRADES UC Manager-11.x Enhanced Single User-Und	\$81.18	7 for 36 mo(s)	\$568.26
42	CUCM-VERS-11.5	CUCM Software version 11.5	\$0.00	1	\$0.00
43	EXPWY-VE-C-K9	Cisco Expressway-C Server, Virtual Edition	\$0.00	2	\$0.00
14	LIC-EXP-E-PAK	Expressway Series, Expressway-E PAK	\$0.00	1	\$0.00
45	LIC-EXP-GW	Enable GW Feature (H323-SIP)	\$0.00	4	\$0.00
46	LIC-SW-EXP-K9	License Key Software Encrypted	\$0.00	4	\$0.00
47	LIC-EXP-AN	Enable Advanced Networking Option	\$0.00	2	\$0.00
48	LIC-EXP-E	Enable Expressway-E Feature Set	\$0.00	2	\$0.00
49	UCM-PAK	UCMPAK	\$0.00	1	\$0.00
50	LIC-CUCM-11X-ENH	UC Manager Enhanced 11.x License	\$0.00	7	\$0.00
51	LIC-UC-ENC	UC Encryption License	\$0.00	1	\$0.00
52	EXPWY-VE-E-K9	Cisco Expressway-E Server, Virtual Edition	\$0.00	2	\$0.00
53	LIC-EXP-DSK	Expressway Desktop Endpoint License	\$0.00	7	\$0.00
54	LIC-EXP-SERIES	Enable Expressway Series Feature Set	\$0.00	4	\$0.00
55	LIC-EXP-TURN	Enable TURN Relay Option	\$0.00	2	\$0.00
56	SW-EXP-8.X-K9	Software Image for Expressway with Encryption, Version X8	\$0.00	1	\$0.00
57	CON-ECMU-RUCLUCK9	SWSS UPGRADES Top Level SKU For 9.	\$0.00	1 for 36 mo(s)	\$0.00
				Total:	\$1,420.86
58	VL-11X-K9 CUWL-11X-K9	Unified Workspace Licensing v. 11.x	\$0.00	1	\$0.00
59	NEW-UWL-11X-S-SLED	New CUWL Std Edition 11.x Usr, SLED/Govt/Edu Only, 1 Usr	\$188.50	10	\$1,885.00
30	ADDON-UWL	Add-on for Existing CUWL Deployment	\$0.00	1	\$0.00
31	JABBER-DSK-K9-RTU	Jabber for Desktop Right to Use	\$0.00	1	\$0.00
32	UCM-11X-UWL-STD	UC Manager 11.x CUWL STD Users	\$0.00	10	\$0.00
33	VXME-USR	Cisco VXME Users	\$0.00	1	\$0.00
64	JAB-ADR-CLNT-UWL	Jabber for Android CUWL Only	\$0.00	3	\$0.00
35	JAB-IPH-CLNT-UWL	Jabber for iPhone CUWL Only	\$0.00	4	\$0.00
				*	40.00



2003118810957-08

Total:

Total (Cisco Phones):

\$3,115.00

\$16,386.04

DATE: 11/14/ PAGE: 4 of 5

67	JABBER-DESKTOP	Jabber for Desktop for PC and Mac	\$0.00	8	\$0.00
68	JABBER-SDK	Jabber Software Development Kit	\$0.00	1	\$0.00
69	LIC-UC-ENC	UC Encryption License	\$0.00	1 -	\$0.00
70	VXME-USR-RTU	VXME Right to Use	\$0.00	1	\$0.00
71	JABBER-TABLET	Jabber for iPad and Android Tablet	\$0.00	3	\$0.00
72	UWL-11X-PAK	CUWL 11.x PAK	\$0.00	1	\$0.00
73	JAB-IPH-RTU	Jabber for iPhone Right to Use	\$0.00	1	\$0.00
74	UWL-11X-STD	CUWL Standard 11.x Users - Service Use Only	\$0.00	10	\$0.00
75	CON-ECMU-UWL11XS1	SWSS UPGRADES CUWL Standard 11.x Users - Service Use O	\$123.00	10 for 36 mo(s)	\$1,230.00
76	CUCILYNC-CLNT-UWL	Cisco Unified Comm Integration for Lync for CUWL only	\$0.00	1	\$0.00
77	JAB-ADR-RTU	Jabber for Android Right to Use	\$0.00	1	\$0.00
78	CIPC-UWL-RTU	CIPC UWL Right to Use Certificate	\$0.00	1	\$0.00
79	IPC8-CLIENT-UWL	IP Communicator 8.x for CUWL only	\$0.00	1	\$0.00
80	JABBER-TABLET-RTU	Jabber for Tablet Right to Use	\$0.00	1	\$0.00
81	LIC-EXP-DSK	Expressway Desktop Endpoint License	\$0.00	10	\$0.00
82	CUCILYNC-UWL-RTU	CUCILYNC UWL Right to Use Certificate	\$0.00	1	\$0.00
83	UCXN-11X-SC-PORTS	Unity Connection 11.x SpeechConnect Ports	\$0.00	2	\$0.00
84	UCXN-11X-UWL-STD	Unity Connection 11.x CUWL STD Users	\$0.00	10	\$0.00
85	UCAPPS-SW-11.X-K9	Version 11.x Software Kit	\$0.00	1	\$0.00
86	CON-ECMU-CUW1LXK9	SWSS UPGRADES Unified Workspace Licensing v. 11.x	\$0.00	1	\$0.00

s	Sub Total:	\$125,500.96
C	Grand Total:	\$125,500.96



2003118810957-08

PAGE:

5 of 5

This quote is governed by Terms and Conditions of Texas DIR-TSO-4167 Contract.

State of Texas Vendor ID 17605152499

Standard-Terms-for-Purchase-of-Services or Goods

Quote valid for 30 days from date shown above.

Prices may NOT include all applicable taxes and shipping charges

All prices subject to change without notice. Supply subject to availability.

Purchase Order should be issued to: Presidio Networked Solutions Group, LLC 1955 Lakeway Drive, Suite 220 Lewisville, TX 75057

Pursuant to this contract your PO must reflect the following contract:

Texas DIR-TSO-4167

Tax ID# 58-1667655; Size Business: Large; CAGE Code: OKDO5; DUNS#15-405-0959; CEC 15-506005G

Credit: Net 30 days (all credit terms subject to prior Presidio credit department approval)

Delivery: FOB Terms Dictated by individual PO details

Customer hereby authorizes and agrees to make timely payment for products delivered and services rendered, including payments for partial shipments

Mal

Customer Signature

4-26-2018 Date